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Seat No.: Enrolment No.

Date:12/07/2011

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. — I*' - Examination — June/July- 2011
Subject code: 310002
Subject Name: Applied Science-I (Physics)

Total Marks: 70

Instructions:

1. Attempt all the questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Answer the following questions

Define (1) Meter (2) Second

Explain the term “angle of contact”.

Define reverberation time.

State formula for magnification of simple microscope.
Define: (1) Isotope (2) Isobar

Write four uses of X-rays.

State the relation between mass defect & binding energy.
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Fill in the blanks

S. L. unit of frequency is

l pm = m

For waves, velocity = * wave length

Electromagnetic waves are having & fields.

Velocity of light in vacuum C =
No of neutrons present in 92U235 are
S. L. Unit of surface energy is
Answer the following.

Draw neat figure of vernier caliper and label its parts.
Write short note on Nuclear chain reaction.

OR

Answer the following.
Explain piezoelectric method for the production of ultrasonic sound.
Write short note on ruby laser.

Write short note on determination of surface tension by capillary rise method.
State factors affecting on reverberation time. State measures to minimize
reverberation time.
State any four derived physical quantities. Also state its S. 1. Units.
OR
State the formula for surface tension of liquid and explain the terms used in it. Write
two uses of surface tension.
State fundamental physical quantities with symbol & units in S. L.
State the difference between echo and reverberation of sound.

Define the following with reference to lens (1) Focal point (2) Optical center (3)
Focal length (4) Power of lens (5) Distance for distinct vision

State an equation for half life time of a radioactive element and explain the terms
used in it. Also explain average life time.

Explain optical pumping and population inversion of electrons.

Time: 02:30 pm — 05:00 pm
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OR
Explain (1) Interference of light (2) polarization of light
State the difference between nuclear fusion & nuclear fission.
Write short note of fluorescence.

Water rises up to 3.6 cm in a capillary tube of diameter 0.4 mm immersed in water.
How far will it rise in a tube of radius 0.15 mm?
A radio transmits waves of 19 m wavelength. If velocity of the wave is 3X10° km/s,
find its frequency.
For a convex lens, D, is 40 cm. Find its focal length if D; is 20 cm.

OR

A capillary tube of radius 0.125 mm is dipped in liquid having density 0.87 gm/cm’.

If the liquid rises up to 2.8 cm in the tube. The angle of contact is 17 degrees.
Calculate the surface tension of the liquid.

Half life time of a radioactive element is 30 days, calculate its average life time.
Calculate the least count of a micrometer screw having pitch 0.5 mm and 100
divisions on circular scale.
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